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1. Anli, a permaneni resident of Taiwan, Rep. of Chine, is working toward a doctorate in Economics at
University of Chicago. She spends a weekend visiting the New York City. The education University of
Chicago sells her
a. 15a [J.5. exports, and so is her accommodation in New York .

b. isaU.S. exports, bat her accomnmeadation in New York is not.
c. is not a U.S. exports, but ber accommodation in New York is.
d. isnota U.S. exports, and neither 15 her accommodation in New York.

2. Throughout the 1980s and 1990s, Taiwan has experienced an excess of
a. exports over imports, or a negative balance of rade.
b. exports over imports, or 2 positive balance of trade.
£. imports over exports, or a negative balance of trade.
. 4. imports over exports, or 3 positive balance of trade.
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. InFigure 1, suppose that the economy currently is at point e, if the central bank reduces the inflation rate
and this action is unanticipated by the public, the economy

a. shifts to point 4.

b. shifts to point ¢,

¢. moves to poiat 4

d. mowves to point f.

. InFigure 1, suppose that the economy currently is at point e, if the central bagik reduces the inflation rase
and this action is anticipated by the public, the economy

a. shifts @ point g,

b. shifts 10 point ¢.

¢, InOves to point 4.

d. oves to point f.

. InFigure 1, suppose that the economy currently is at point b, if the public begins to raise its inflation
expeciafions and cenfral bank wants to keep the unemployment rate at 6 percent, the central bank must
move the economy to point ¢.

shift the economy to point 4.

shift the economy to point &.

shift the economy to point £
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. Human capital 15 accunuliated by

a. on-thejob training.

b. Taking vacations.

¢. More government puichases.

d. Plant and equipment purchases by firms.



7. Which of the following is money?

a A check written for $200. |

b. A $200 checking deposit at a baxnk.

c. A credit card with a $200 line of credit.
d. All of the above are money.

8. In which episode was there an immense reduction of the money supply?
a. The Great Depression of the 1930s.
b. The OPEC recession of 1973-75.
c. The UL.S. recession of 1990-91.
d: " The Asian financial crisis since 1997, | .

9. Businesses become convinced that future profits from investiment will be greater than imtially believed.
This is an aggregate shock and a feedback policy rule may be able to keep real GDP from
potential GDP.
demand, falling below
demand; increasing above
supply: falling below
supply; increasing above
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10. In the new growth theory, economic growth is a consequence of
a. continual increases in knowledge motivated by the desire for profits.
b. population growth.
c. diminishing marginal product of capital.
d. time preference.
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